
¥I�Æ��Æ�5�ê(þ)1�g��K
ÌùP�:of²
Ï�: Úh,Ho

1. �äe��5�§|´�N��´Ø�N�¶XJ�N§�ä´(½��´Ø½

�"£�y^Ý
�ó�¤

(1)


x + 2y + 3z = 4

2x + y + 2z = 6

x + y + 3z = 2

(2)


y + z = 4

2x + y + 3z = 1

x + y + 2z = 2

(3)


x + y + 2z = 1

3x + y + 2z = 5

x + 2y + 4z = 0
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n∑
k=1

k =
n(n+ 1)
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n∑
k=1

k2 =
n(n+ 1)(2n+ 1)
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3. �Xe�§| 
a11x1 + a12x2+ . . . +a1nxn = 0

a21x1 + a22x2+ . . . +a2nxn = 0
...

...

am1x1 + am2x2+ . . . +amnxn = 0

(∗)

¤kXêÑ´¢ê§�kü|)µ
x1 = α1

x2 = α2

...

xn = αn

Ú


x1 = β1

x2 = β2
...

xn = βn

¦yé?¿¢ê c,
x1 = cα1

x2 = cα2

...

xn = cαn

Ú


x1 = α1 + β1

x2 = α2 + β2
...

xn = αn + βn
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